

On two theorems of Katre-Rao-Sheth

Selby Jose^a, BhatoaJoginder Singh^b

^aDepartment of Mathematics, Institute of Science, Madam Cama Road, Fort, Mumbai 400-032, Maharashtra, India

^bDepartment of Mathematics, Government College, Daman, India

Abstract

In [2] Katre-Rao-Seth gave an explicit solution of the system of linear equations $E\varphi E^t = \varphi'$, where φ, φ' are alternating matrices of Pfaffian 1, which at most differ in their first row and column, and E is of the form $\prod_{i=2}^{2r} E_{1i}(x_i)$. To prove this they proved two theorems viz. Theorem 2.4 and Theorem 3.6. In this paper, we show that these two theorems are equivalent.

KEYWORDS: Group action, elementary group, alternating matrices.

Mathematics Subject Classification 2010: 11E57, 13C10

1. Introduction

Let φ, φ' be alternating matrices of Pfaffian one. In ([2], Theorem 2.4) an explicit formula is given for the $x_i, 2 \leq i \leq 2m$, where $E = \prod_{j=2}^{2m} E_{1j}(x_j)$, for solving the problem $E\varphi E^t = \varphi'$. They show that

Theorem 1.1([2], Theorem 2.4): *For $m \geq 2$, $x^t = Bv^{*t}$ is a solution of the equation $E\varphi E^t = \varphi'$.*

In the same paper, in ([2], Theorem 3.6) it is shown:

Theorem 1.2 *Let $v, v' \in Um_{r+1}(R), r \geq 1$, and $\langle v, w \rangle = 1 = \langle v', w \rangle$. Then there is a sequence of pairs, starting with $(v_0, w_0) = (v, w)$, and ending with $(v_n, w_n) = (v', w)$, such that, for $i \geq 0$, the pairs (v_{i+1}, w_{i+1}) has v_{i+1} as a Cohn transform of v_i w.r.t. w , and $w_{i+1} = w$. $(v, w) = (v_0, w_0) \rightarrow (v_1, w_1) \rightarrow \dots \rightarrow (v_n, w_n) = (v', w)$.*

The key lemma used to prove this is:

Lemma 1.3 *Let $v, v', w \in R^{r+1}, r \geq 1$, such that $\langle v, w \rangle = 1 = \langle v', w \rangle$. Let $v = (a_0, \dots, a_r), v' = (a'_0, \dots, a'_r), w = (b_0, \dots, b_r)$. Then $a'_k - a_k = \sum_{i \neq k} (a'_i a_i - a_k a'_i) b_i$.*

In this paper we show, by an example, that these two theorems are intimately related.

2. Preliminaries

Let R be a commutative ring with 1.

Definition 2.1 *A matrix $A \in M_n(R)$ is said to be alternating if $a_{ii} = 0$ and $a_{ij} = -a_{ji}$, for $1 \leq i, j \leq n$. The space of all alternating $n \times n$ matrices over a commutative ring R will be denoted by $Alt_n(R)$. It is clearly a free R -module of rank $1 + 2 + \dots + (n - 1) = \binom{n}{2}$ with*

basis $B_{ij} = e_{ij} - e_{ji}$, $1 \leq i < j \leq n$, where $e_{ij} \in M_n(R)$ with ij -th entry is 1 and all other entries are 0.

Definition 2.2 (Pfaffian of a skew-symmetric matrix A)

Pfaffian of a skew-symmetric matrix A is defined, upto sign, as the polynomial in the entries of A whose square is $\det(A)$ and is denoted by $pf(A)$.

Definition 2.3 The **General Linear** group $GL_r(R)$ is defined as the group of $r \times r$ invertible matrices with entries in R .

Definition 2.4 The **Special Linear** group is denoted by $SL_r(R)$ and is defined as $SL_r(R) = \{ \alpha \in GL_r(R) : \det(\alpha) = 1 \}$.

Definition 2.5 The group of **elementary matrices** $E_r(R)$ is a subgroup of $GL_r(R)$ generated by matrices of the form $E_{ij}(\lambda) = I_r + \lambda e_{ij}$, where $\lambda \in R$, $i \neq j$ and $e_{ij} \in M_r(R)$ with ij -th entry is 1 and all other entries are 0.

3. On Two Theorems of Katre-Rao-Seth

In this section, by using Lemma 1.3 we show that we can give an explicit procedure to get Theorem 1.1. This procedure can also be used in higher sizes. We detailed this calculation in Proposition 3.2.

Proposition 3.1 Let φ_1, φ_2 be two 6×6 alternating matrices with Pfaffian 1 over R , with $(\varphi_1)_{ij} = (\varphi_2)_{ij}$ where $2 \leq i, j \leq 6$. Then there exists $E = \begin{pmatrix} 1 & x \\ 0 & I_5 \end{pmatrix}$, where $x \in M_{15}(R)$, such that $E \varphi_1 E^t = \varphi_2$.

Proof: We give the proof in a procedural way. Let

$$\varphi_1 = \begin{pmatrix} 0 & x_1 & x_2 & x_3 & x_4 & x_5 \\ -x_1 & 0 & y_2 & y_3 & y_4 & y_5 \\ -x_2 & -y_2 & 0 & z_3 & z_4 & z_5 \\ -x_3 & -y_3 & -z_3 & 0 & w_4 & w_5 \\ -x_4 & -y_4 & -z_4 & -w_4 & 0 & u_5 \\ -x_5 & -y_5 & -z_5 & -w_5 & -u_5 & 0 \end{pmatrix} \text{ and } \varphi_2 = \begin{pmatrix} 0 & a_1 & a_2 & a_3 & a_4 & a_5 \\ -a_1 & 0 & y_2 & y_3 & y_4 & y_5 \\ -a_2 & -y_2 & 0 & z_3 & z_4 & z_5 \\ -a_3 & -y_3 & -z_3 & 0 & w_4 & w_5 \\ -a_4 & -y_4 & -z_4 & -w_4 & 0 & u_5 \\ -a_5 & -y_5 & -z_5 & -w_5 & -u_5 & 0 \end{pmatrix}$$

Let $v_1 = e_1 \varphi_1 = (x_1, x_2, x_3, x_4, x_5)$ and $v_2 = e_1 \varphi_2 = (a_1, a_2, a_3, a_4, a_5)$. If $w = e_1 \varphi_1^* = (b_1, b_2, b_3, b_4, b_5)$, where φ_1^* denote the transpose inverse of φ_1 , then $\langle v_1, w \rangle = 1 = \langle v_2, w \rangle$. Note that

$$b_1 = u_5 z_3 + w_4 z_5 - w_5 z_4, \quad b_2 = -u_5 y_3 - w_4 y_5 + w_5 y_4, \\ b_3 = u_5 y_2 + y_4 z_5 - y_5 z_4, \quad b_4 = -w_5 y_2 + y_3 z_5 - y_5 z_3,$$

$$b_5 = w_4y_2 - y_3z_4 - y_4z_3$$

Now as $\langle v_1, w \rangle = 1 = \langle v_2, w \rangle$, one get $\sum_{i=1}^5 x_i b_i = 1 = \sum_i a_i b_i$, so $\sum_{i=1}^5 (x_i - a_i) b_i = 0$. Hence,

$$\begin{aligned} a_k - x_k &= (a_k - x_k) \sum_{i=1}^5 x_i b_i = (a_k - x_k) x_k b_k + (a_k - x_k) \sum_{i \neq k} x_i b_i \\ &= \sum_{i \neq k} (x_i - a_i) b_i x_k + (a_k - x_k) \sum_{i \neq k} x_i b_i = \sum_{i \neq k} (a_k x_i - x_k a_i) b_i . \end{aligned}$$

Thus we have $a_k = x_k + \sum_{i \neq k} (a_k x_i - x_k a_i) b_i$ and hence one can write the value of a_k explicitly as

$$\begin{aligned} a_1 &= x_1 - y_2(x_1 a_3 u_5 - a_1 x_3 u_5 + x_1 a_5 w_4 - x_1 a_4 w_5 + a_1 x_4 w_5 - a_1 x_5 w_4) \\ &\quad - y_3(a_1 x_2 u_5 - x_1 a_2 u_5 - a_1 x_4 z_5 + x_1 a_4 z_5 + a_1 x_5 z_4 - x_1 a_5 z_4) - y_4(x_1 a_2 w_5 \\ &\quad - a_1 x_2 w_5 + a_1 x_3 z_5 - x_1 a_5 z_3 - x_1 a_3 z_5 - a_1 x_5 z_3) - y_5(a_1 x_2 w_4 - x_1 a_2 w_4 \\ &\quad + x_1 a_3 z_4 - a_1 x_3 z_4 + a_1 x_4 z_3 - x_1 a_4 z_3) \\ a_2 &= x_2 + y_2(a_2 x_3 u_5 - x_2 a_3 u_5 + x_2 a_4 w_5 - a_2 x_4 w_5 + a_2 x_5 w_4 - x_2 a_5 w_4) \\ &\quad - z_3(x_2 a_1 u_5 - a_2 x_1 u_5 + a_2 x_4 y_5 - x_2 a_4 y_5 + x_2 a_5 y_4 - a_2 x_5 z_4) \\ &\quad - z_4(a_2 x_1 w_5 - x_2 a_1 w_5 + x_2 a_3 y_5 - a_2 x_3 y_5 + a_2 x_5 y_3 \\ &\quad - x_2 a_5 y_3) - z_5(x_2 a_1 w_4 - a_2 x_1 w_4 + a_2 x_3 y_4 - x_2 a_3 y_4 + a_2 x_4 y_3 \\ &\quad + x_2 a_4 y_3) \\ a_3 &= x_3 + y_3(a_2 x_3 u_5 - x_2 a_3 u_5 + a_3 x_4 z_5 - x_3 a_4 z_5 + x_3 a_5 z_4 - a_3 x_5 z_4) \\ &\quad + z_3(a_3 x_1 u_5 - a_1 x_3 u_5 + a_4 x_3 y_5 - x_4 a_3 y_5 + x_5 a_3 y_4 - a_5 x_3 y_4) \\ &\quad - w_4(a_1 x_3 z_5 - x_1 a_3 z_5 + x_2 a_3 y_5 - a_2 x_3 y_5 + a_5 x_3 y_2 - x_5 a_3 y_2) \\ &\quad - w_5(x_1 a_3 z_4 - a_1 x_3 z_4 + a_2 x_3 y_4 - x_2 a_3 y_4 + a_3 x_4 y_2 - x_3 a_4 y_2) \\ a_4 &= x_4 + y_4(a_4 x_2 w_5 - x_4 a_2 w_5 + x_4 a_3 z_5 - a_4 x_3 z_5 + a_4 x_5 z_3 - x_4 a_5 z_3) \\ &\quad + z_4(x_4 a_1 w_5 - a_4 x_1 w_5 + a_4 x_3 y_5 - x_4 a_3 y_5 + x_4 a_5 y_3 - a_4 x_5 y_3) \\ &\quad + w_4(a_4 x_1 z_5 - x_4 a_1 z_5 + x_4 a_2 y_5 - a_4 x_2 y_5 + a_4 x_5 y_2 - x_4 a_5 y_2) \\ &\quad - u_5(x_4 a_1 z_3 - a_4 x_1 z_3 + a_4 x_2 y_3 - x_4 a_2 y_3 - a_3 x_4 y_2 + x_3 a_4 y_2) \\ a_5 &= x_5 + y_5(a_2 x_5 w_4 - x_5 a_2 w_4 + x_3 a_5 z_4 - a_3 x_5 z_4 + a_5 x_4 z_3 - x_5 a_4 z_3) \\ &\quad + z_5(x_1 a_5 w_4 - a_1 x_5 w_4 + a_3 x_5 y_4 - x_3 a_5 y_4 + x_4 a_5 y_3 - a_4 x_5 y_3) \\ &\quad + w_5(a_1 x_5 z_4 - x_1 a_5 z_4 + x_2 a_5 y_4 - a_2 x_5 y_4 + a_5 x_4 y_2 - x_5 a_4 y_2) \\ &\quad - u_5(x_1 a_5 z_3 - a_1 x_5 z_3 + a_2 x_5 y_3 - x_2 a_5 y_3 + a_5 x_3 y_2 - x_5 a_3 y_2) \end{aligned}$$

For the following computation, we use the mathematical software MuPAD. Note that for

$$\begin{aligned} \lambda_1 &= x_1 a_3 u_5 - a_1 x_3 u_5 + x_1 a_5 w_4 - x_1 a_4 w_5 + a_1 x_4 w_5 - a_1 x_5 w_4 \\ \lambda_2 &= a_1 x_2 u_5 - x_1 a_2 u_5 - a_1 x_4 z_5 + x_1 a_4 z_5 + a_1 x_5 z_4 - x_1 a_5 z_4 \\ \lambda_3 &= x_1 a_2 w_5 - a_1 x_2 w_5 + a_1 x_3 z_5 - x_1 a_5 z_3 - x_1 a_3 z_5 - a_1 x_5 z_3 \\ \lambda_4 &= a_1 x_2 w_4 - x_1 a_2 w_4 + x_1 a_3 z_4 - a_1 x_3 z_4 + a_1 x_4 z_3 - x_1 a_4 z_3 \end{aligned}$$

one has $a_1 = x_1 - y_2 \lambda_2 - y_3 \lambda_2 - y_4 \lambda_3 - y_5 \lambda_4$.

Hence we consider $E_{16}(\lambda_4)E_{15}(\lambda_3)E_{14}(\lambda_2)E_{13}(\lambda_1)\varphi_1(E_{16}(\lambda_4)E_{15}(\lambda_3)E_{14}(\lambda_2)E_{13}(\lambda_1))^t$, which is same as

$$\alpha_1 = \begin{pmatrix} 0 & a_1 & \mu_2 & \mu_3 & \mu_4 & \mu_5 \\ -a_1 & 0 & y_2 & y_3 & y_4 & y_5 \\ -\mu_2 & -y_2 & 0 & z_3 & z_4 & z_5 \\ -\mu_3 & -y_3 & -z_3 & 0 & w_4 & w_5 \\ -\mu_4 & -y_4 & -z_4 & -w_4 & 0 & u_5 \\ -\mu_5 & -y_5 & -z_5 & -w_5 & -u_5 & 0 \end{pmatrix}$$

where

$$\mu_2 = x_2 + a_2u_5x_3y_2 - a_3u_5x_2y_2 - a_1u_5x_2z_3 + a_2u_5x_1z_3 + a_2w_4x_5y_2 - a_2w_5x_4y_2 + a_4w_5x_2y_2 - a_5w_4x_2y_2 - a_1w_4x_2z_5 + a_1w_5x_2z_4 + a_2w_4x_1z_5 - a_2w_5x_1z_4.$$

$$\mu_3 = x_3 + a_2u_5x_3y_3 - a_3u_5x_2y_3 - a_1u_5x_3z_3 + a_3u_5x_1z_3 + a_2w_4x_5y_3 - a_2w_5x_4y_3 + a_4w_5x_2y_3 - a_5w_4x_2y_3 - a_1w_4x_3z_5 + a_1w_5x_3z_4 + a_3w_4x_1z_5 - a_3w_5x_1z_4$$

$$\mu_4 = x_4 + a_2u_5x_3y_4 - a_3u_5x_2y_4 - a_1u_5x_4z_3 + a_4u_5x_1z_3 + a_2w_4x_5y_4 - a_2w_5x_4y_4 + a_4w_5x_2y_4 - a_5w_4x_2y_4 - a_1w_4x_4z_5 + a_1w_5x_4z_4 + a_4w_4x_1z_5 - a_4w_5x_1z_4$$

$$\mu_5 = x_5 + a_2u_5x_3y_5 - a_3u_5x_2y_5 - a_1u_5x_5z_3 + a_5u_5x_1z_3 + a_2w_4x_5y_5 - a_2w_5x_4y_5 + a_4w_5x_2y_5 - a_5w_4x_2y_5 - a_1w_4x_5z_5 + a_1w_5x_5z_4 + a_5w_4x_1z_5 - a_5w_5x_1z_4$$

Now we can write

$$a_2 - \mu_2 = -z_3\lambda_5 - z_4\lambda_6 - z_5\lambda_7,$$

where

$$\lambda_5 = a_2x_4y_5 - x_2a_4y_5 + x_2a_5y_4 - a_2x_5y_4, \lambda_6 = x_2a_3y_5 - a_2x_3y_5 + a_2x_5y_3 - x_2a_5y_3,$$

$$\lambda_7 = a_2x_3y_4 - x_2a_3y_4 - a_2x_4y_3 + x_2a_4y_3.$$

Hence we consider $E_{16}(\lambda_7)E_{15}(\lambda_6)E_{14}(\lambda_5)\alpha_1(E_{16}(\lambda_8)E_{15}(\lambda_7)E_{14}(\lambda_6))^t$ which is same as

$$\alpha_2 = \begin{pmatrix} 0 & a_1 & a_2 & \mu_6 & \mu_7 & \mu_8 \\ -a_1 & 0 & y_2 & y_3 & y_4 & y_5 \\ -a_2 & -y_2 & 0 & z_3 & z_4 & z_5 \\ -\mu_6 & -y_3 & -z_3 & 0 & w_4 & w_5 \\ -\mu_7 & -y_4 & -z_4 & -w_4 & 0 & u_5 \\ -\mu_8 & -y_5 & -z_5 & -w_5 & -u_5 & 0 \end{pmatrix} \text{ where}$$

$$\mu_6 = x_3 + a_2u_5x_3y_3 - a_3u_5x_2y_3 - a_1u_5x_3z_3 + a_3u_5x_1z_3 + a_2w_4x_3y_5 - a_2w_5x_3y_4 - a_3w_4x_2y_5 + a_3w_5x_2y_4 - a_1w_4x_3z_5 + a_1w_5x_3z_4 + a_3w_4x_1z_5 - a_3w_5x_1z_4$$

$$\mu_7 = x_4 + a_2u_5x_4y_3 - a_4u_5x_2y_3 - a_1u_5x_4z_3 + a_4u_5x_1z_3 + a_2w_4x_4y_5 - a_2w_5x_4y_4 - a_4w_4x_2y_5 + a_4w_5x_2y_4 - a_1w_4x_4z_5 + a_1w_5x_4z_4 + a_4w_4x_1z_5 - a_4w_5x_1z_4$$

$$\mu_8 = x_5 + a_2u_5x_5y_3 - a_5u_5x_2y_3 - a_1u_5x_5z_3 + a_5u_5x_1z_3 + a_2w_4x_5y_5 - a_2w_5x_5y_4 - a_5w_4x_2y_5 + a_5w_5x_2y_4 - a_1w_4x_5z_5 + a_1w_5x_5z_4 + a_5w_4x_1z_5 - a_5w_5x_1z_4$$

We now write $a_3 - \mu_6 = y_3\lambda_8 + z_3\lambda_9 - w_4\lambda_{10} - w_5\lambda_{11}$, where

$$\lambda_8 = a_3x_4z_5 - x_3a_4z_5 + x_3a_5z_4 - a_3x_5z_4, \lambda_9 = x_3a_4y_5 - a_3x_4y_5 + a_3x_5y_4 - x_3a_5y_4$$

$$\lambda_{10} = x_3a_5y_2 - a_3x_5y_2, \lambda_{11} = a_3x_4y_2 - x_3a_4y_2$$

Then $E_{16}(\lambda_{11})E_{15}(\lambda_{10})E_{13}(\lambda_9)E_{12}(\lambda_8)\alpha_2(E_{16}(\lambda_{11})E_{15}(\lambda_{11})E_{13}(\lambda_9)E_{12}(\lambda_8))^t$ becomes

$$\alpha_3 = \begin{pmatrix} 0 & a_1 & a_2 & a_3 & \mu_9 & \mu_{10} \\ -a_1 & 0 & y_2 & y_3 & y_4 & y_5 \\ -a_2 & -y_2 & 0 & z_3 & z_4 & z_5 \\ -a_3 & -y_3 & -z_3 & 0 & w_4 & w_5 \\ -\mu_9 & -y_4 & -z_4 & -w_4 & 0 & u_5 \\ -\mu_{10} & -y_5 & -z_5 & -w_5 & -u_5 & 0 \end{pmatrix}$$

where

$$\begin{aligned} \mu_9 &= x_4 + a_2u_5x_4y_3 - a_3u_5x_4y_2 - a_4u_5x_2y_3 + a_4u_5x_3y_2 - a_1u_5x_4z_3 + a_4u_5x_1z_3 \\ &\quad + a_2w_4x_4y_5 - a_2w_5x_4y_4 - a_4w_4x_2y_5 + a_4w_5x_2y_4 - a_1w_4x_4z_5 + a_1w_5x_4z_4 \\ &\quad + a_4w_4x_1z_5 - a_4w_5x_1z_4 + a_3x_4y_4z_5 - a_3x_4y_5z_4 - a_4x_3y_4z_5 + a_4x_3y_5z_4 \\ \mu_{10} &= x_5 + a_2u_5x_5y_3 - a_3u_5x_5y_2 - a_5u_5x_2y_3 + a_5u_5x_3y_2 - a_1u_5x_5z_3 + a_5u_5x_1z_3 \\ &\quad + a_2w_4x_5y_5 - a_2w_5x_5y_4 - a_5w_4x_2y_5 + a_5w_5x_2y_4 - a_1w_4x_5z_5 + a_1w_5x_5z_4 \\ &\quad + a_5w_4x_1z_5 - a_5w_5x_1z_4 + a_3x_5y_4z_5 - a_3x_5y_5z_4 - a_5x_3y_4z_5 + a_5x_3y_5z_4 \end{aligned}$$

Again we write $a_4 - \mu_9 = y_4\lambda_{12} + z_4\lambda_{13} + w_4\lambda_{14}$, where

$$\lambda_{12} = a_4x_5z_3 - a_5x_4z_3, \quad \lambda_{13} = a_5x_4y_3 - a_4x_5y_3, \quad \lambda_{14} = a_4x_5y_2 - a_5x_4y_2$$

Then $E_{14}(\lambda_{14})E_{13}(\lambda_{13})E_{12}(\lambda_{12})\alpha_3(E_{14}(\lambda_{14})E_{13}(\lambda_{13})E_{12}(\lambda_{12}))^t$ becomes

$$\alpha_4 = \begin{pmatrix} 0 & a_1 & a_2 & a_3 & a_4 & a_5 \\ -a_1 & 0 & y_2 & y_3 & y_4 & y_5 \\ -a_2 & -y_2 & 0 & z_3 & z_4 & z_5 \\ -a_3 & -y_3 & -z_3 & 0 & w_4 & w_5 \\ -a_4 & -y_4 & -z_4 & -w_4 & 0 & u_5 \\ -a_5 & -y_5 & -z_5 & -w_5 & -u_5 & 0 \end{pmatrix} = \varphi_2$$

Thus if

$$\begin{aligned} \varepsilon_1 &= E_{16}(\lambda_4)E_{15}(\lambda_3)E_{14}(\lambda_2)E_{13}(\lambda_1), & \varepsilon_2 &= E_{16}(\lambda_7)E_{15}(\lambda_6)E_{14}(\lambda_5), \\ \varepsilon_3 &= E_{16}(\lambda_{11})E_{15}(\lambda_{10})E_{13}(\lambda_9)E_{12}(\lambda_8), & \varepsilon_4 &= E_{14}(\lambda_{14})E_{13}(\lambda_{13})E_{12}(\lambda_{12}) \end{aligned}$$

and $E = \varepsilon_4\varepsilon_3\varepsilon_2\varepsilon_1$, then E is of the form $\begin{pmatrix} 1 & x \\ 0 & I_5 \end{pmatrix}$ and $E\varphi_1E^t = \varphi_2$, where $x = (\beta_1 \ \beta_2 \ \beta_3 \ \beta_4 \ \beta_5)$.

$$\beta_1 = a_2u_5x_3 - a_3u_5x_2 + a_2w_4x_5 - a_2w_5x_4 + a_4w_5x_2 - a_5w_4x_2 + a_3x_4z_5 - a_3x_5z_4 - a_4x_3z_5 + a_4x_5z_3 + a_5x_3z_4 - a_5x_4z_3$$

$$\beta_2 = -a_1u_5x_3 + a_3u_5x_1 - a_1w_4x_5 + a_1w_5x_4 - a_4w_5x_1 + a_5w_4x_1 - a_3x_4y_5 + a_3x_5y_4 + a_4x_3y_5 - a_4x_5y_3 - a_5x_3y_4 + a_5x_4y_3$$

$$\beta_3 = a_1u_5x_2 - a_2u_5x_1 + a_2x_4y_5 - a_2x_5y_4 - a_4x_2y_5 + a_4x_5y_2 + a_5x_2y_4 - a_5x_4y_2 - a_1x_4z_5 + a_1x_5z_4 + a_4x_1z_5 - a_5x_1z_4$$

$$\beta_4 = -a_1w_5x_2 + a_2w_5x_1 - a_2x_3y_5 + a_2x_5y_3 + a_3x_2y_5 - a_3x_5y_2 - a_5x_2y_3 + a_5x_3y_2 + a_1x_3z_5 - a_1x_5z_3 - a_3x_1z_5 + a_5x_1z_3$$

$$\beta_5 = a_1w_4x_2 - a_2w_4x_1 + a_2x_3y_4 - a_2x_4y_3 - a_3x_2y_4 + a_3x_4y_2 + a_4x_2y_3 - a_4x_3y_2 - a_1x_3z_4 + a_1x_4z_3 + a_3x_1z_4 - a_4x_1z_3$$

This $x = (\beta_1 \ \beta_2 \ \beta_3 \ \beta_4 \ \beta_5)$ can also be calculated in the following way. Note that one can write

$$\varphi^* = \begin{pmatrix} 0 & w \\ -w^t & B \end{pmatrix}$$

where B is a 5×5 submatrix of φ^* . Then $Bv_2^t = (\theta_1 \ \theta_2 \ \theta_3 \ \theta_4 \ \theta_5)$ where

$$\theta_1 = a_2u_5x_3 - a_3u_5x_2 + a_2w_4x_5 - a_2w_5x_4 + a_4w_5x_2 - a_5w_4x_2 + a_3x_4z_5 - a_3x_5z_4 - a_4x_3z_5 + a_4x_5z_3 + a_5x_3z_4 - a_5x_4z_3$$

$$\theta_2 = -a_1u_5x_3 + a_3u_5x_1 - a_1w_4x_5 + a_1w_5x_4 - a_4w_5x_1 + a_5w_4x_1 - a_3x_4y_5 + a_3x_5y_4 + a_4x_3y_5 - a_4x_5y_3 - a_5x_3y_4 + a_5x_4y_3$$

$$\theta_3 = a_1u_5x_2 - a_2u_5x_1 + a_2x_4y_5 - a_2x_5y_4 - a_4x_2y_5 + a_4x_5y_2 + a_5x_2y_4 - a_5x_4y_2 - a_1x_4z_5 + a_1x_5z_4 + a_4x_1z_5 - a_5x_1z_4$$

$$\theta_4 = -a_1w_5x_2 + a_2w_5x_1 - a_2x_3y_5 + a_2x_5y_3 + a_3x_2y_5 - a_3x_5y_2 - a_5x_2y_3 + a_5x_3y_2 + a_1x_3z_5 - a_1x_5z_3 - a_3x_1z_5 + a_5x_1z_3$$

$$\theta_5 = a_1w_4x_2 - a_2w_4x_1 + a_2x_3y_4 - a_2x_4y_3 - a_3x_2y_4 + a_3x_4y_2 + a_4x_2y_3 - a_4x_3y_2 - a_1x_3z_4 + a_1x_4z_3 + a_3x_1z_4 - a_4x_1z_3$$

Thus $Bv_2^t = x^t$ as required.

We can extend the Proposition 3.1 to any n as follows:

Theorem 3.2 Let φ_1, φ_2 be two $n \times n$ alternating matrices with Pfaffian 1 over R , with $(\varphi_1)_{ij} = (\varphi_2)_{ij}$ where $2 \leq i, j \leq n$. Then there exists $E = \begin{pmatrix} 1 & x \\ 0 & I_{n-1} \end{pmatrix}$, where $x \in M_{1, n-1}(R)$, such that $E \varphi_1 E^t = \varphi_2$.

Proof: Let $v_1 = e_1 \varphi_1 = (x_1, x_2, \dots, x_{n-1})$ and $v_2 = e_1 \varphi_2 = (a_1, a_2, \dots, a_{n-1})$. If $w = e_1 \varphi_1^* = (b_1, b_2, \dots, b_{n-1})$, where φ_1^* denote the transpose inverse of φ_1 , then $\langle v_1, w \rangle = 1 = \langle v_2, w \rangle$. Thus by Lemma 1.3, $a_k = x_k + \sum_{i \neq k} (a_k x_i - x_k a_i) b_i$. Note that one can write

$$a_1 = x_1 + \varphi_{32} \lambda_1 + \varphi_{42} \lambda_2 + \dots + \varphi_{n2} \lambda_{n-1}$$

for some $\lambda_1, \lambda_2, \dots, \lambda_{n-1} \in R$. Let $\varepsilon_1 = E_{1n}(\lambda_{n-2}) E_{1, n-1}(\lambda_{n-3}) \dots E_{14}(\lambda_2) E_{13}(\lambda_1)$ and $\alpha_1 = \varepsilon_1 \varphi \varepsilon_1^t$. Then $e_1 \alpha_1 = (a_1, \mu_1, \mu_2, \dots, \mu_{n-1})$ and $(\alpha_1)_{ij} = (\varphi_1)_{ij}$ where $2 \leq i, j \leq n$ for some $\mu_1, \mu_2, \dots, \mu_{n-1} \in R$. Now we write

$$a_2 - \mu_2 = \varphi_{43} \delta_1 + \varphi_{53} \delta_2 + \dots + \varphi_{(n-2)3} \delta_{n-2}$$

for some $\delta_1, \delta_2, \dots, \delta_{n-2} \in R$. Let

$$\varepsilon_2 = E_{1n}(\delta_{n-2}) E_{1, n-1}(\delta_{n-3}) \dots E_{15}(\delta_2) E_{14}(\delta_1) \text{ and } \alpha_2 = \varepsilon_2 \alpha_1 \varepsilon_2^t.$$

Then $e_1 \alpha_2 = (a_1, a_2, v_1, \dots, v_{n-2})$ and $(\alpha_2)_{ij} = (\varphi_1)_{ij}$ where $2 \leq i, j \leq n$ for some $v_1, v_2, \dots, v_{n-2} \in R$. Now we write $a_3 - v_1 = \varphi_{54} \theta_1 + \varphi_{64} \theta_2 + \dots + \varphi_{n3} \theta_{n-3}$ for some $\theta_1, \theta_2, \dots, \theta_{n-3} \in R$. Let $\varepsilon_3 = E_{1n}(\theta_{n-3}) E_{1, (n-1)}(\theta_{n-4}) \dots E_{14}(\theta_1)$ and $\alpha_3 = \varepsilon_3 \alpha_2 \varepsilon_3^t$. Then $e_1 \alpha_3 = (a_1, a_2, a_3, k_1, \dots, k_{n-3})$ and $(\alpha_3)_{ij} = (\varphi_1)_{ij}$ where $2 \leq i, j \leq n$ for some $k_1, k_2, \dots, k_{n-3} \in R$.

Proceeding in this way, one gets, for some ε_{n-2} , $\varepsilon_{n-2} \alpha_{n-3} \varepsilon_{n-2}^t = \varphi_2$. Let $E = \varepsilon_{n-2} \varepsilon_{n-3} \dots \varepsilon_2 \varepsilon_1$. We also write $\varphi^* = \begin{pmatrix} 0 & w \\ -w^t & B \end{pmatrix}$ where B is an $(n-1) \times (n-1)$ submatrix of φ^* . Then E is of the form $\begin{pmatrix} 1 & x \\ 0 & I_{n-1} \end{pmatrix}$ and $E \varphi_1 E^t = \varphi_2$, where $x = (\beta_1 \ \beta_2 \ \dots \ \beta_{n-1}) = Bv_2^t$.

Remark 3.3 Thus we have proved that Theorem 1.2 implies Theorem 1.1.

References

[1] Selby Jose and R.A. Rao. *A Structure theorem for the Elementary Unimodular Vector group*. Trans. Amer. Math. Soc., 358, no.7, 3097 - 3112, (2005).
 [2] S.A. Katre, R.A. Rao, D.N. Sheth. *Solving linear systems via Pfaffians*, Linear Algebra and its applications, 430 Issue 4, 968-975

- [3] Werner Greub. *Multilinear algebra*, Second edition. Universitext. Springer-Verlag, New York-Heidelberg, 1978.